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(range) mean sd/bin = (0.1−0.5) 0.2 cm/s

u.x vs tc; sonic CSAT0853

Wed Oct 15 15:47:38 2014

2014 Oct 10, 11:14 − 18:08  MDT

(range) mean sd/bin = (0.2−1.3) 1 cm/s

Oct 10 18:08 − Oct 11 01:04  MDT
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u.y vs tc; sonic CSAT0853
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2014 Oct 10, 11:14 − 18:08  MDT

(range) mean sd/bin = (0.3−2.2) 1.4 cm/s

Oct 10 18:08 − Oct 11 01:04  MDT
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(range) mean sd/bin = (0.1−0.5) 0.1 cm/s

u.z vs tc; sonic CSAT0853
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2014 Oct 10, 11:14 − 18:08  MDT

(range) mean sd/bin = (0.1−1) 0.9 cm/s

Oct 10 18:08 − Oct 11 01:04  MDT


